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O MH28 2z & P2gs Ad
5,000,000& = 14 5,000
O etd==4 ool AXA
10,000,000& * 14 10,000
ANEES HHEH 25,440 26,040 A 600
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01 At 22l 9,000 9,000 0
[0 Yet=2H| 9,000
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0332 2 HAl 1,340
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O ¢tdEZ FHl |22l
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O ot&dEH 2Iztol 3|
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M Es2s & MHEue 8,000 8,000 0
< 2,400
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[0 20l 22/ XA AFHAIE X
10,040,000& * 14 10,040
< 3,012
Al 7,028
MOHFIE tdNE 29 34,000 34,000 0
201 Let24d]| 34,000 34,000 0
03 &AL Z I 34,000 34,000 0
O MoH==21g etds WM M
100,000& * 404 4,000
[ M08 s 22835 72
10,000& * 1,2000H 12,000
[0 MOH=D18 AEWE ZAE
200,000& = 902l 18,000
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Al 36,400
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O ot&st XN Atel 2tED| 23R2= 14,160
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1,060,000& * 122 12,720
CCTV EI122(200H )
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Al 76,650
307 glz2tol & 109,500 0 109,500
< 32,850
Al 76,650
06 283 109,500 0 109,500
0O oot 8E= 109,500,000 * 14! 109,500
< 32,850
Al 76,650
AMOIOHEEE Dt & 29Y 40,000 80,000 A 40,000
307 glz2+ol & 40,000 80,000 A 40,000
06 23 40,000 80,000 A 40,000
At EEZ 40,000,000& = 14 40,000
Hetot™ A3 WS 22,000 22,000 0
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[0 SHAFEA X 2 S| 8,0008 » 25 = 103 2,000
MEOHMAID S S K 40,000 40,000 0
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Al 28,000
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o= 6,000
Al 14,000
01 Al&H| 20,000 20,000 0
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& 6,000
Al 14,000
405 XHAHFIEHI 20,000 20,000 0
& 6,000
Al 14,000
01 XAt 2 E F S| 20,000 20,000 0
O HAsI X 2,000,000& = 10H 20,000
o= 6,000
Al 14,000
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Al 15,000
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Al 15,000
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O XNEMH2e NdSE2EEHE 25
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201 £B-2dH| 30,000 0 30,000
< 9,000
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30,000,000& * 14 30,000
= 9,000
Al 21,000
AW HEes82 s 182,800 182,800 0
gAYl 23 182,800 182,800 0
201 Let24d] 3,000 3,000 0
01 At 2teltl 3,000 3,000 0
O Ao & A EET 2
120,000& * 2594 3,000
301 LA F 179,800 179,800 0
03 S ALK& B 179,800 179,800 0
O ogsrY%U s+
43,000& * 600Y 63l 154,800
O gLl JIs 3AU3
25,000,000& * 14! 25,000
Meeldls 28t 508,776 373,099 135,677
< 17,700
Al 491,076
Hoges 201,676 194,233 7,443
101 124 dl 166,071 158,028 8,043
04 12t Z2XEES 166,071 158,028 8,043
0O S=ol ZA2 o= 166,071
O Jl=s 73,3003 * 22H » 95¢ 153,197
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O HLEE= RE=
153,197,000& = 3.5/100 5,362
O LoIQURHE LY
5,362,000& = 11.52/100 618
O IVHZEE=s L3
153,197,000 * 4.50/100 6,894
201 £B-2dH| 21,500 21,500 0
01 At 22l 19,100 19,100 0
0O get=Z4l 7,700
O Mt o 822 7
1,000& » 1,000% 1,000
O Tt ol &2 M& 100,000& * 23 200
O Mt o gRE0M Rl
5,000& 2008 1,000
O MMt B2 &3 =g MA
20,000& * 508 1,000
O MY ZA 2 SFAE =8 IE 8
el 10,000& » 1108 1,100
O THOHCHZ ArztEt HZHHl 500,000 * 24 1,000
O ROREH 24 ZH & 2= WA
2,400,000& * 14 2,400
0 2g8+¢ 5,000
O ME THoHZE &d 2ERJE &g
70,000& = 10F = 43 2,800
O AMH MHlgdetd ZERARS FAI A
B4 60,0003 = 10 = 23l 1,200
O NEsLdHHt deguns A2
1,000,000& * 14 1,000
[E==q.] 6,400
O MY Hges 4253
8,000& = 10 = 80 6,400
03 & Ar2 Z I 2,400 2,400 0
O] THoH olle &AL 2 1,200,000 = 23l 2,400
202 (44l 4,700 5,300 A 600
01 SLHOIYI 4,700 5,300 A 600
O e oges 28
20,000 = 5% = 47 4,700
206 = Hl 9,405 9,405 0
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O S48 2AARNY SR
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Hotass 24 9,600 9,600 0
201 LBt 9,600 9,600 0
01 At 22l 9,600 9,600 0
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O g+=9% M 50,000& = 103l 500
0O =&l 5,200
O My M8 g2z
8,000& = 13% = 50¢ 5,200
Mt aSAIAE 29 101,500 71,266 30,234
201 L2l 98,800 68,266 30,534
02 3322l 98,800 68,266 30,534
03322 £ HA 98,800
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St ZAIDtHeH(S A, HIIR)
150,000& * 16CH  12& 28,800
=A2AFI (S, ®IF)
50,000& = 1404 = 123 8,400
HEA(SH, HdIIg)
50,000& = 700 = 123 4,200
HASHEBANAE(SA, MIZ)
8,000& = 36004 » 123 34,560
AAsSFBAAEY (M82314)
500,000& = 12& 6,000
ANE I e (M85 M)
80,000& = 12& 960
Hahh 2B (SA, 8IIR)
170,000& = 6l = 123 12,240
Mo XR(Sd, EIIF)
55,0003 * 404 + 12& 2,640
O ZMEga &albl 1,000,000& * 13| 1,000
202 o4dl 2,700 3,000 A 300
01 = LH o4 1l 2,700 3,000 A 300
O HUASBAAY 29 ALEA
20,000& = 3% = 45¢ 2,700
MAHBEAE XA 137,000 60,000 77,000
201 L2l 47,000 20,000 27,000
02 =224l 47,000 20,000 27,000
O A€ EHI KX 47,000
O MHSESEAME S22l
22,000,000& = 14| 22,000
O MHMBE(RYIES)AMAY A2l
22,000,000& = 14 22,000
O ZAFJAAE X2t
3,000,000& = 14l 3,000
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401 Al HIZ 201 Y| 90,000 40,000 50,000
01 A& HI 90,000 40,000 50,000
O ool B E2AI4 &X 90,000
O Mol EAE £&X & KA 22/
90,000,000& * 1 90,000
HalZEAE 2RH(EX) 24,000 28,000 A 4,000
< 7,200
Al 16,800
201 Lt 24,000 28,000 A 4,000
= 7,200
Al 16,800
02 =224l 24,000 28,000 A 4,000
O AIE ZHI KXY 24,000
O Mol ol - Z2ANE A2+
24,000,000& * 1 24,000
< 7,200
Al 16,800
AAedMH2I XA (EX) 35,000 10,000 25,000
= 10,500
Al 24,500
301 LeEAF 35,000 10,000 25,000
< 10,500
Al 24,500
09 SAAHIX RS 20,000 10,000 10,000
O XS Ay s4 WS 8,0008 = 5002 4,000
< 1,200
Al 2,800
0 SHs 2MEs S4H  300,0008 * 2204 6,600
< 1,980
Al 4,620
O XS s s & AL AL Al
24 9,400,000& = 14 9,400
< 2,820
Al 6,580
12 JIEtE& = 15,000 0 15,000
O XS gy 285 7Y
30,000& = 5009 15,000
< 4,500
Al 10,500
SERXE & LA 11,396,700 7,593,280 3,803,420
= 5,370,000
= 1,641,590
Al 4,385,110
S7Y2 N2AY 585,400 488,280 97,120
206 M= Hl 8,200 8,200 0
01 M2 4l 8,200 8,200 0
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O Mol s=2 =7+ AN 2
8,200,000& = 1A 8,200
302 Ol=LTHAHE A& =2 77,200 77,200 0
02 QIZIoI LY =S RESE A= 77,200 77,200 0
[0 AMSAE IHol MHX2S
20,000,000 * 14! 20,000
[0 =S TOol X X &2
10,000,000& = HhH 50,000
O AMDI O F 2 RIE 24
8,000& * 50¥ = 34l x 6L 7,200
401 AlEHIZL 201 Y| 500,000 402,880 97,120
01 Al&H| 400,000 400,000 0
O Mol e & 82 SR23A
100,000,000 * 14! 100,000
O 23AMX £ o6& 228
300,000,000& = 1A 300,000
03 Al 201 Y| 100,000 2,880 97,120
O Mol e &€ 82 =7 U YX
100,000,000 * 14! 100,000
EZEL00 EEAMYE(EX) 46,000 52,000 A 6,000
o= 23,000
Al 23,000
307 2I2t0| ™ 46,000 52,000 A 6,000
= 23,000
Al 23,000
06 22 46,000 52,000 A 6,000
] Exo Eg= 46,000,000& * 14 46,000
= 23,000
Al 23,000
THoHRIE X2 HHAMH(EX) 9,000,000 6,300,000 2,700,000
= 4,500,000
& 1,350,000
Al 3,150,000
401 AlEHIZL £ 0HY| 8,000,000 6,300,000 1,700,000
= 4,000,000
& 1,200,000
Al 2,800,000
01 Al&H| 7,980,500 5,721,800 2,258,700
O = XNATHHRAE NS X7 AHIALE
1,995,500,000& = 14! 1,995,500
= 1,000,000
& 300,000
Al 695,500
[0 &2 NATHHASEINSE KNP HHIALE
2,993,500,000 = 1Al 2,993,500
= 1,500,000
& 450,000
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03 AlIE 201 Y| 19,500 18,200 1,300
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6,500,000& = 1A 6,500
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6,500,000& = 14 6,500
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2,000,000& = 1Al 2,000
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Al 350,000
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738,500,000 = 14! 738,500
= 370,000
& 111,000
Al 257,500
03 AlE 201 1,500 1,440 60
[0 23AMK 2UASEXNY HH (LX)
1,500,000 * 14! 1,500
SLEMFAIE XA 1,000,000 0 1,000,000
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